O EAERM (HFR) 0IEFESE HR) RESE

(ZEEHR3)

BHAL D TH
1 0 FEERTBRELRR FERRMIE L IRERE
A EN ] A IT | (AR x MEO A+ 1075 | GERBRESE + 1A 5ATS 2%
M3+ $Rth 4 ™) 8)
Tk 1,010 1,560
2 KO +FIA 21k 919 1,469
3iRih 828 1,378
Lk 1,360 2,057
3 Kis+F 1A 28R 1,234 1,877
3iRih 1,108 1,680
Tk 1,710 2,557
4 Kig+F2 A 28R 1,549 2,327
3iRih 1,388 2,097
Tk 2,060 3,057
5 Kis+F 3 A 28R b 1,864 2,777
3iRih 1,668 2,497
Lk 2,410 3,657
6 Kig+F4 A 28R 2,179 3,227
3iRih 1,948 2,897
Tk 2,760 4,000
7 Kis+F5 A 28R 2,494 3,668
3iRih 2,228 3,297
Tk 3,110 4,438
8 Kig+F 6 A 28R 2,809 4,061
3iRih 2,508 3,685
Lk 3,460 4,875
9 Kis+F 7T A 28R 3,124 4,455
3iRih 2,788 4,035

XA T 1kt 3575 M.
XINEAE 1kt 2175,

2k 31575, 3k 2875H
27kt 18.95M. 3#k#H 16.85M




